Virginia High School League District Competition, 2000-01 season

Match #9


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
What is the name of the sedimentary rock formed from consolidated and compressed clay deposits that splits easily along planar surfaces and often contains oil?

ANSWER: SHALE
2.
THIS IS A COMPUTATION QUESTION. Jackie Chan, in his latest movie, can defeat 8 people every five minutes with his kung-fu. How many people can he defeat with his kung-fu if the movie is 1 hour and 40 minutes?

ANSWER: 160 people (1:40 is 20 5-minute units, 20 * 8 = 160)

3.
This Rembrandt painting, also known as The Militia Company of Captain Frans Banning Cocq (COKE), portrays a group of city guardsmen awaiting the command to fall in line. What is this painting, named for the time when these guardsmen were on duty?

ANSWER: The NIGHT WATCH
4.
Dmitri, Ivan and Alexei were what title brothers of a Dostoyevsky (doh-stoh-YEV-skee) novel?

ANSWER: KARAMAZOV

First period (continued)

5.
Their name is a Russian acronym for Main Administration of Corrective Labor Camps. People who went there were sent for being guilty of crimes against the state and made to perform forced labor. What is the name for these Soviet prison camps, about which Solzhenitsyn wrote?

ANSWER: GULAGs

6.
Before the US entered World War II, it provided aid to the Allies by providing them arms that the recipients had to either return or pay for. What was the name of this program?

ANSWER: LEND-LEASE
7.
What poet read at the Kennedy inauguration and is famous for his poems “Mending Wall” and “The Road Not Taken?”

ANSWER: Robert FROST
8.
Urd, Verlandi and Skuld are so powerful, that not even Odin can reverse their judgments and fates. Who are these three sisters, the equivalents of the Fates in Norse mythology?

ANSWER: NORNS
9.
How many sides are in a dodecahedron?

ANSWER: TWELVE
10.
This constellation lies between Taurus and Cancer on the zodiac. What is this constellation, whose two largest stars are named for a mythological pair of twins, Castor and Pollux?

ANSWER: GEMINI
11.
President Andres Pastrana has created a demilitarized zone for the ELN, a second rebel group in what country, which already has the FARC, which is a Marxist group largely funded with narcotic money?

ANSWER: COLOMBIA

First period (continued)

12.
THIS IS A COMPUTATION QUESTION. A circle of radius 9 inches is divided into six equal parts through its center.  What is the length, in inches, of each of the six equal pieces of the circumference?

ANSWER: 3 PI 

13.
It was given to mothers in Western Europe in the late 1950s to relieve the stress of morning sickness. What is this drug that was later proved to cause birth defects, most notably the absence of limbs, especially the arms?

ANSWER: THALIDOMIDE 

14.
What is the concept in English and American law where a defamatory statement is made in transient form – including gestures, sounds, and speech and is quite often paired with libel?

ANSWER: SLANDER
15.
This six-letter word comes from the two Roman officials whose job it was to supervise the census and ensure public morality. It is also used to describe the person in the military who examines personal mail and dispatches, removing material deemed secret or improper. What is this word used to describe removing anything morally objectionable?

ANSWER: CENSOR
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.

1A.
What is the name given to a persistent ringing or hissing noise hear within the ear?

ANSWER: TINNITUS
1B.
For all regular, the first-person singular verb form in Italian and Spanish in the present indicative tense ends in what letter?

ANSWER: O
2A.
Seward’s Folly was the name given to the purchase of what territory from Russia in 1867?

ANSWER: ALASKA
2B.
Who is the former Missouri governor and senator that is drawing fire as George W. Bush’s nominee for attorney general?

ANSWER: Josh ASHCROFT
3A.
What American poet penned the poem, Song of Myself, but is most famous for his collection Leaves of Grass?

ANSWER: Walt WHITMAN
3B.
What conic section consists of two parts, separated from each other by lines known as asymptotes?

ANSWER: HYPERBOLA
4A.
With what country is the Taliban associated?

ANSWER: AFGHANISTAN
4B.
What is the term given to the formation of giant molecules by the union of simple molecules?

ANSWER: POLYMERs

Second period (continued)

5A.
With what two arithmetical operations is the associative law associated?

ANSWER: ADDITION and MULTIPLICATION
5B.
Who was the Empress of the Byzantine Emperor Justinian?

ANSWER: THEODORA
6A.
A permanganate ion contains oxygen and what other element?

ANSWER: MANGANESE (DO NOT ACCEPT MAGNESIUM, THESE ARE TWO DIFFERENT ELEMENTS)

6B.
Who is the fictional Belgian detective that used his “little gray cells” to solve cases, a creation of Agatha Christie?

ANSWER: Hercule POIROT
7A.
In what city in Spain can the Alhambra be found?

ANSWER: GRANADA
7B.
What is the name given to the large drums normally played with two felt covered mallets, made of large copper bowls with a plastic or calfskin head?

ANSWER: TIMPANI
8A.
What case of a noun is used when the noun is the indirect object of the sentence?

ANSWER: DATIVE
8B.
THIS IS A COMPUTATION QUESTION. At how many points between and including 0 and 2 PI does the function y equals sin 2x cross the x-axis?

ANSWER: FIVE (0, ½ PI, PI, 3/2 PI, 2 PI)

9A.
In the television series Deep Space Nine, who was the commander of the space station Deep Space Nine?

ANSWER: Commander/Captain Benjamin SISKO
Second period (continued) 

9B.
What is the name of the point on the surface of the earth directly above the focus of an earthquake?
ANSWER: EPICENTER
10A.
THIS IS A COMPUTATION QUESTION. What is the midpoint of the line between (-3, -5) and (2, 6)?

ANSWER: (-½, ½) (negative one-half, comma, one-half)

10B.
With what battle is the phrase “Don’t fire until you see the whites of their eyes” associated?

ANSWER: BUNKER HILL
Third period: 15 toss-ups

1.
On the first six days, the besieging armies were to march around the city once per day. On the seventh day, the besieging armies were to march seven times around the city. After the seventh march, the armies were to play their horns and raise a general din. What was this city, which according to the Bible, had its walls “come tumbling down?”

ANSWER: JERICHO
2.
Ian Fleming wrote Chitty Chitty Bang Bang, but is most famous for creating what fictional member of Her Majesty’s Secret Service, who has gone on to star in over 20 movies, including Dr. No and Goldfinger?

ANSWER: JAMES BOND
3.
The difference between a company’s sales revenue and its costs attributable to sales is better known by what term, which can be kept as reserves, to employees in a sharing plan, or given out to shareholders as dividends?

ANSWER: PROFIT
4.
In a database, what are the components of a record called, including such things as Name, Address, Phone Number, Salary, etc.?

ANSWER: FIELDS
5.
Inguinal, fermoral and umbilical are three types of what disorder where tissue protrudes from its natural location through a hole in adjacent membranes, and are especially prevalent in the groin and upper thighs?

ANSWER: HERNIAs

6.
What river, the namesake of a “Cannonball” mentioned in many country songs, is the southern part of the boundary between Indiana and Illinois?

ANSWER: WABASH
7.
THIS IS A COMPUTATION QUESTION. What is the volume of a ball that is 10 inches in diameter?

ANSWER: 200 PI cubic inches

Third period (continued)

8.
According to Newton’s Second Law, force equals the rate of change of (BLANK) with time. What is this vector quantity, the product of mass and velocity?

ANSWER: MOMENTUM
9.
Who is the current occupant of 10 Downing Street?
ANSWER: Tony BLAIR
10.
What novel concerns the struggles Santiago has while catching a giant marlin and then fending off the sharks that wish to steal his fish, a novel by Ernest Hemmingway?

ANSWER: THE OLD MAN AND THE SEA
11.
THIS IS A COMPUTATION QUESTION. What two binomials, when multiplied, yield the polynomial 3x squared minus 13x minus 10?

ANSWER: X MINUS 5 (x-5) and 3X PLUS 2 (3x+2)

12.
What is the term applied to the ability to access information in the mind relating to past events or experiences?

ANSWER: MEMORY
13.
Paul Cook and Steve Jones are two lesser known members of this group. John Lydon, another member, went on to found Public Image Unlimited after the group’s breakup. John Simon Ritchie, another member, was indicted for murdering his girlfriend and died of a heroin overdose. Who is this band, where the two previously mentioned members are better known as Johnny Rotten and Sid Vicious?

ANSWER: SEX PISTOLS
14.
Less Than Zero and American Psycho are the two best-known books by what contemporary author?

ANSWER: Bret Easton ELLIS
Third period (continued)
15.
Jiang Qing (jee-ANG CHING) rose through her marriage to this man to a position in the Politburo in 1969. After he died in 1976, however, she was sentenced to death as part of the Gang of Four. Who was Jiang Qing’s husband?

ANSWER: MAO Tse-tung (or Zedong)

Spares

Ted Hughes was the husband of what author of The Bell-Jar committed suicide?

ANSWER: Sylvia PLATH
THIS IS A COMPUTATION QUESTION. Bob deals four cards, and all four are spades. What is the chance, expressed as a fraction, that the next card he deals will also be a spade?

ANSWER: NINE FORTY-EIGHTHS (9/48)

He achieved great success in defeating Napoleon’s navy in Egypt and attacking Copenhagen. During his greatest victory in 1805, he was mortally wounded aboard his flagship, the HMS Victory. Who is this British admiral who led the British fleets at Trafalgar?

ANSWER: Viscount Horatio (Lord) NELSON
It is generally agreed that they passed through the Dardanelles, and along the Black Sea coast to Colchis, where the target of their voyage, the Golden Fleece, could be found. Who was this crew, led by Jason, named for the ship on which they traveled?

ANSWER: ARGONAUTS
It is caused by the depletion of adenosine triphosphate and phosphoryl creatinine in the muscles after death. What is the two-word Latin phrase for this temporary stiffening of the body that lasts for 3-4 days after death?

ANSWER: RIGOR MORTIS
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